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Lesson Three:  Sight and Sounds of Words (Module A) 
                         Consonants, Vowels, and Diphthongs 
                         Study Aid Level Three: Quiz 

 
This is a “closed book” quiz.  Be careful because there may be more than 
one correct answer for each question or statement.  The suggested time 
limit for this exercise is thirty minutes. 
 
1.  Which are the two short Greek vowels? 
 
      a.    c.   
 
      b.    d.   
 
2.  What are the ten phonetic equivalent Greek-English consonants? 
 
      a.    c.  / 
 
       b.  /d.  / 
 
3.  What are the six phonetic corresponding Greek-English consonants 

that have a different form than English, although the same sound? 
 
 a.  /  c.   
 
 b.    d.   
 
4.  What are the seven Greek vowels? 
 
 a.   

 b.   
 
 c.   
 
 d.   
 
5.    and are always pronounced short.     True     False 
 
6.    and  are always pronounced short.    True      False 
 
7.   and  are always pronounced short.     True      False 
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8.  Which group is classified as the Greek open vowels? 
 
 a.    c.   
 
 b.    d.   
 
9.  Which group is classified as the Greek close vowels? 
 
  a.     c.   
 
  b.      d.   
 
10.  A Greek proper diphthong is a combination of two open vowels. 
       True      False 
 
11.   The eight Greek proper diphthongs include: 
 
   a.     c.   
 
  b.     d.   
 
12.   Which groups of Greek diphthongs are phonetically the same? 
 
  a.   c.   
 
  b.    d.   
 
13.  A diaeresis is 
 
      a. two dots placed over the second of two consecutive vowels that 

usually constitute a diphthong, indicating that the second vowel is to 
be pronounced in a separate syllable. 

 
      b. two dots placed over the first of two consecutive vowels that usually      

constitute a diphthong, indicating that the second vowel is to be                    
pronounced in a separate syllable. 

 
      c. two dots at the end of a sentence to indicate a period. 
 
      d. two dots written on the line to indicate that the proper diphthong is                   

really an improper diphthong. 
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14.  The iōta adscript is written on the line when  and  are written as 
capitals (AI, HI, , respectively).    True     False 

 
15.  The three Greek compound consonants are 
 
 a.    c.   
 
 b.    d.   
 
16.  The aspirated Greek consonants include 
 
 a.    c.   
 
 b.    d.   
 
17.  The Greek proper diphthong, , is pronounced like 
 
 a.  the “i” as in “bike”  c.  the “i” as in “kite” 
 
 b.  the “ai” as in “bait”  d.  the “a” as in “take” 
 
18.  The Greek proper diphthong, , is pronounced like 
 
 a.  the “ow” as in “owl” c.  the “ow” as in “cow” 
 
 b.  the “ou” as in “doubt” d.  the “ow” as in “towel” 
 
19.  The three Greek improper diphthongs are 
 
 a.     c.   

 b.           d.  none of these 
 
20.  Which group of corresponding letters is correct? 
 
 a.  =   c.  =  
 
 b.   =   d.   =  
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21.  Which one of the following letters is an aspirate consonant? 
 

a.   c.  
b.   d.  

 
22.  Which example is an illustration of monophthongization? 
 

a.   c.  
b.   d.  

 
23.  When  and  are written as capitals () the iota subscript is 

written where in respect to the letter?
 

a.  on the line c.  before the capital letter 
b.  under the capital letter d.  none of these 

 
24. Modern Greek contains how many alphabetical letters? 
 

a.  twenty-four c.  twenty-seven 
b.  twenty-eight d.  twenty-one 

 
25.  Which alphabet is the first known phonetic alphabet? 
 

a.  Phoenician c.  Cyrillic 
b.  Greek d.  Hebrew 

 
26.  Which one of the following Greek letters sounds like the “p” in “party”? 
 

a.   c.  
b.   d.  

 
27.  Which letter below is pronounced identically to ? 
 

a.   c.  
b.   d.  
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ANSWER KEY 
 

1.  Which are the two short Greek vowels? 
 
      a.    c.   
 
      b.    d.   
 
2.  What are the ten phonetic equivalent Greek-English consonants? 
 
      a.    c.  / 
 
      b.  / d.  / 
 
3.  What are the six phonetic corresponding Greek-English consonants 

that have a different form than English, although the same sound? 
 
 a.  /  c.   
 
 b.    d.   
 
4.   What are the seven Greek vowels? 
 
 a.   

 b.   
 
 c.   
 
 d.   
 
5.    and are always pronounced short.    True 
 
6.    and  are always pronounced short.   False 
 
7.    and  are always pronounced short.   False 
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8.  Which group is classified as the Greek open vowels? 
 
 a.    c.   
 
 b.    d.   
 
9.  Which group is classified as the Greek close vowels? 
 
 a.     c.   
 
 b.      d.   
 
10.   A Greek proper diphthong is a combination of two open vowels.  
        False 
 
11.   The eight Greek proper diphthongs include: 
 
   a.     c.   
 
   b.     d.   
 
12.   Which groups of Greek diphthongs are phonetically the same? 
 
  a.   c.   
 
  b.    d.   
 
13.  A diaeresis is 
 
      a. two dots placed over the second of two consecutive vowels that 

usually constitute a diphthong, indicating that the second vowel is to 
be pronounced in a separate syllable. 

 
      b. two dots placed over the first of two consecutive vowels that usually      

constitute a diphthong, indicating that the second vowel is to be                    
pronounced in a separate syllable. 

 
      c. two dots at the end of a sentence to indicate a period. 
 
      d. two dots written on the line to indicate that the proper diphthong is                   

really an improper diphthong. 
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14.   The iōta adscript is written on the line when  and  are written as 
capitals (AI, HI, , respectively).     True 

 
15.  The three Greek compound consonants are 
 
 a.    c.   
 
 b.    d.   
 
16.  The aspirated Greek consonants include 
 
 a.    c.   
 
 b.    d.   
 
17.   The Greek proper diphthong, , is pronounced like 
 
 a.  the “i” as in “bike”  c.  the “i” as in “kite” 
 
 b.  the “ai” as in “bait”  d.  the “a” as in “take” 
 
18.   The Greek proper diphthong, , is pronounced like 
 
 a.  the “ow” as in “owl” c.  the “ow” as in “cow” 
 
 b.  the “ou” as in “doubt” d.  the “ow” as in “towel” 
 
19.   The three Greek improper diphthongs are 
 
 a.     c.   

 b.           d.  none of these 
 
20.   Which group of corresponding letters is correct? 
 
 a.  =   c.  =  
 
 B.   =   d.   =  
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21.  Which one of the following letters is an aspirate consonant? 
 

a.   c.  
b.   d.  

 
22.  Which example is an illustration of monophthongization? 
 

a.   c.  
b.   d.  

 
23.  When  and  are written as capitals () the iota subscript is 

written where in respect to the letter?
 

a.  on the line c.  before the capital letter 
b.  under the capital letter d.  none of these 

 
24. Modern Greek contains how many alphabetical letters? 
 

a.  twenty-four c.  twenty-seven 
b.  twenty-eight d.  twenty-one 

 
25.  Which alphabet is the first known phonetic alphabet? 
 

a.  Phoenician c.  Cyrillic 
b.  Greek d.  Hebrew 

 
26.  Which one of the following Greek letters sounds like the “p” in “party”? 
 

a.   c.  
b.   d.  

 
27.  Which letter below is pronounced identically to ? 
 

a.   c.  
b.   d.  
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